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QUESTION NO: 1

What is a group of one or more containers in a Kubernetes cluster?
A. helm

B. pilot

C. node

D. pod

ANSWER: D

QUESTION NO: 2

What is the primary interface to manage a NetApp HCI cluster?
A. VMware vCenter

B. OnCommand System Manager

C. OnCommand Unfired Manager

D. VMware Horizon

ANSWER: A

QUESTION NO: 3

Which two StorageGRID features provide data durability for large unstructured datasets? (Choose two.)
A. erasure coding

B. storage tiering

C. object replication

D. S3 API compatibility

ANSWER: B C
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QUESTION NO: 4

What are two methods to subscribe to Cloud Insights? (Choose two.)
A. NetApp Cloud Central

B. NetApp Sales

C. NetApp Support Site

D. AWS Marketplace

ANSWER: BD

QUESTION NO: 5

What would be used with Cloud Volumes Service to create Snapshot copies, catalog backups, and perform file-level
restores?

A. Cloud Backup Service
B. Azure NetApp Files
C. Cloud Volumes ONTAP

D. Cloud Sync

ANSWER: A

QUESTION NO: 6

Which ONTAP technology is the foundation for SnapMirror?
A. modifiers

B. clones

C. snapshots

D. disks

ANSWER: B

QUESTION NO: 7
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Which two statements describe the benefits of using public clouds? (Choose two.)

A. Applications are always less expensive to run in the public cloud.

B. Public clouds are always used for hosting tier 1 and financial applications.

C. Public clouds provide an environment for development, testing, and disaster-recovery applications.

D. Public clouds support multi-regional applications without the expense of collocating data centers.

ANSWER: CD

QUESTION NO: 8

What are two node types within a Kubernetes cluster? (Choose two.)
A. storage node

B. gateway node

C. worker node

D. master node

ANSWER: CD

QUESTION NO: 9

What are two functions of FlexGroup volumes? (Choose two.)
A. massive capacity

B. ability to hold LUNs

C. nondisruptive scale out

D. ideal for small workloads

ANSWER: B C

QUESTION NO: 10

You have a centralized data center running NetApp ONTAP. Your business is deploying a new loT solution directly managed
by the Azure loT hub. You want to store data in the cloud for use with data analytics.

Whish NetApp solution would accomplish this task?
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A. Cloud Secure
B. Cloud Volumes ONTAP
C. Cloud Backup Service

D. Cloud Insights

ANSWER: B
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